SUPPLEMENTAL NOTES: mihov - nanev bulgaria_

[1]
1Cl - 1Di
1He: 16-21 NAT or 19-20 BAL or 25+ BAL  1Cl- 1Di- 1He - 1Sp 1Cl - 1Di - 1He - INT/2x
- 1Sp: 0-4 any INT : 19-20 BAL 2NT : 19+ BAL FG
- INT/2x: 5-7 NAT 2NT : 25+ BAL any : NAT w/ 5+He
any : NAT w/ 5+He
(2]

1He - 2Sp(any SPL)
2NT(R) -3m: SPL m
- 3He: SPL Sp

[3] 1He-2NT JACOBY (1Sp - 3ClIJACOBY same methods)
1.)3CI = (6322),(5422) --> 3Di-(R):
1.1. 3He = (5422) min--> 3Sp-(R) : 3Nt-4Sp;4m-NAT
1.2. 3Sp/4m = (5422) max --> next suit - (R): ASK CTRL
1.3. 3Nt = (6322) ---> 4Cl - ASK CTRL, 4 NT RKCB.
2.) 3Di = (5431) max ---> 3He-(R):
2.1.3Sp-SPL
2.2.3NT - SPL CI next suit : ASK CTRL
2.3.4Cl- SPLDi
3.) 3 He = (5431) min --> 3 Sp: (R)
3.1.3NT SPL CI
3.2. 4 Cl - SPL Di next suit : ASK CTRL
3.3.4Di-SPL Sp
4.) 3 SP = 6He w/ SPL--> 3 NT (R)
4.1. 4 Cl - SPL Di
4.2.4Di-SPL Sp next suit : ASK CTRL
4.3.4He - SPLCI
5.) 3 NT = (56332)---> 4Cl : ASK CTRL
6.)4 CL/DI=5-5

[4]
1Sp - 2NT(any SPL)
3CI(R) - 3Di/He SPL
-3Sp SPLCI
5]
(6]
INT - 2Cl INT - 2Cl INT - 2Cl
2Di - 3Cl 2He - 3CI 2Sp - 3Cl
3Di : 4+ Diw/o 4Cl 3Di : 4Di 3Di : 4Di
3He/Sp : (23)44 3He: (4333) or (5332) w/ He  3He: 4333
3NT : 4+Cl 3Sp:4Sp 3Sp : 5(332)
3NT : 4ClI 3NT: 4Cl
[7]
INT (9-12) -?

- 2Cl: F1 STAY includes: weak hands, INV hands w/ 4M or BAL, INV or FG w/ CI, FG w/ 55MM
- 2Di : weak TRF He or INV+ w/ Di

- 2He : weak TRF Sp or INV+ w/ He

-2Sp : F1 NAT

-2NT(R) FG

-3m S/O

- 3M 6+ INV
-4m 6+ w/o SPL, S/T

INT(9-12) - 2NT(R)
2.

3ClI: 4card in either M --> 3Di (R) --> 3M : 4card oM
3Di : w/o 4M w/ xx in either M

3M : 50M

3NT : w/o 4M w/o xx in M

(8]
Opening 2Di:
1st & 2nd pos. : green 5+ M , red 6+ M
3rd pos any VUL : 0-12 5+Di
4th pos any VUL : 4441 SPL m



[9]
Opening 2He/Sp
1st & 2nd pos in green : 0-7 5+
Ist& 2nd posinred :8-11 55 NAT/m
3rd pos any VUL :0-12 5+
4th pos any VUL : 10-13 6+ SEMI-SOL



